Skeletal System Quiz

Circle the correct answer for each question below.

1. Areas where two or more bones join together?

A. Joints B. Femur

2. Lower jawbone on the skeleton?

A. Liagments B. Mandible

3. The kneecap of the skeleton?

A. Patella B. Humorous

4. Attach bone to bone?

A. Tibia B. Ligaments

5. Upper leg bone on the skeleton?

A. Femur B. Talus

6. Forms the bulk of the sternum?

A. Sternum Body B. Fibula

7. The pelvis of the skeleton?

A. Pubis Bone B. Hip Bone

8. Forms the bridge of the nose on the skeleton?

A. Maxilla B. Nasal Bone

9. Articulates with the temporal process of zygomatic bone to form zygomatic arch?

A. Sacrum Vertebrate B. Temporal Bone
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Wrist Bones

A. Carpal Bones B. Tarus Bones

(Needle-like) for several tongues and neck muscle attachment?

A. Styoid Process B. Lateral Process

The inner and larger bone of the forearm, attached to the wrist and located on the side of the little
finger?

A, Ulna B. Radius

Lower back of the skeleton?

A. Lumbar Vertebrate B. Cervical Vertebrate

Collar Bone?

A. Parental Bone B. Clavicle

The bones in the chest that protect the heart and lungs?

A. Ribs B. Proximal Bone

Smaller bone in the forearm (lower arm) on the same side as the thumb?

A. radius B. ulna

Shoulder bone?
A. Coccyx
B. Scapula

Need a hand?
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